September 23, 2001

        


       Name __________________

CS231 Exam 1

Fall 2001

	1.                   (max = 10)
	4.                   (max = 30)

	2.                   (max = 10)
	5.                   (max = 10)

	3.                   (max = 10)
	6.                   (max = 10)

	Final Score __________(max=80),  percent:


1. (10 pts) Define the words inheritance, superclass, and subclass. Please use complete English sentences.

2. (10 pts) Give the base 10 representation of the following base 2 number. Show all of your work:         101100.11


Answer = _____________

3. (10 pts total) Given the following code:
line 1: Player p1 = new Player();
line 2: Player p2 = new Player();
line 3: Player p3;
line 4: p3 = p1;
line 5: p2 = p3; 
Below, show the diagram of what happens in memory after line 3 and line 5.

(5 pts) After line 3 completes:






(5 pts) After line 5 completes:



4. (10 pts) What is the syntax for an assignment statement?  Explain how an assignment statement works.  Include an example in your explanation.




5. (5 pts each, 30 pts total) Given the following declarations:

int i=2, k=10, h=-2;

double x=1.5, y, w=3.0;

Which of the following are valid and which are not valid. If not valid, state why not. If valid, give the result;

a. x = 1 + i + x;          


    circle one:     valid            not valid
if valid, what is result? If not valid, why not?: 


b. y = i/k+h;              


    circle one:     valid            not valid
if valid, what is result? If not valid, why not?:




c. k = (int) x + w;  


    circle one:     valid            not valid
if valid, what is result? If not valid, why not?:
d. y = 2*y/x;             


    circle one:     valid            not valid
if valid, what is result? If not valid, why not?:




e. k = k / 5 * h / 3 + 20;          
    circle one:     valid            not valid
if valid, what is result? If not valid, why not?:




f. k = 6 % 4 + 2 % 3;           

    circle one:     valid            not valid 
if valid, what is result? If not valid, why not?:


6. What is the base 10 value of the following IEEE floating point number? Show all of your work!:  

                                   10100000 00100000 00000000 00000000

1

